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Overview

The X7nx teaches that we derive from 7% qwx that if a 70 eats the ™R
AT DRV, he 1s N2 21, Our MooIn discusses the need for this "2°0.
Seemingly he should be 217 for eating 7137 nX™IWV2 2> 1°R without the "2,
Why should the 2°71°X be more lenient that the w2?!

modoIn explains the need for a ™27 concerning eating 7137 NRMIVA 2N:
— 0951 PN DININ ANMIV DIVN DNYY 12299N PIN NN TNYT NPT
For I may have thought that there is no (additional) liability for eating
TRMIV2 012X since they can not ever be permitted to be eaten” -
— (3,73 91 DNMN NN \MPN P92 NN 1Y
And we derive in nITI% N2OK in M7 AR YRIPA P9 from the juxtaposition of
the o109 that ends with w32 938> v 95 and continues  1°9Y MNRAIV "2 YIRN WK WHIT)
"2 1000, that wa —
— ANMIV DIYN DYDY DN DINNVY 9NN
Which is permissible to be eaten by 217, then there is a liability (of
n7D) if it is eaten MNPV, however w32 which is not 2177V 2N°1 there is no QW 27N
TXMY, and since DMK are not 2°NV? N°1 we may have thought that there is no W -
— 5113912499 590N 997Y
Therefore it was necessary to include o which are eaten 7137 nxmw2 that
there is an N12 21’17 for eating them 7137 NRM™IWA.

nooIN asks:
— (397 99N ANVN P92 NYIYNAT YD YN
However there is a difficulty, for in 77%°¥» n>on in 7w NRWVA P7D -
— 9297 290N DIVIPN 593 A9 SYUNND ONN YWIHT

! This nwon is (seemingly) referring to the (second) 111X X M2 that is derived from the P10 of wWoIm
"% 9w ", which discusses 7137 DR,

? The o™X are those parts of a 127 that are brought up upon the mam to be burnt, and are not eaten.

9,1 (18) XIP.

* o™X are to be brought on the mam and are never to be eaten regardless if they are 277v or Xnu.

> The limitation of *Mw? 20237 will apply to other cases (w2 but not @™ X); if for instance the w3
became Xnw before 077 NP>, then since the w32 is not 2> Mw? N1 there is no 210 for eating it IRMVA.
However concerning 0 1°R, the "12°1 teaches that there is a N1 2117 for eating IX%mW2 MK, even though
it is not o>11770% 1. See footnote # 8.

® The mawn there states that anything which requires P°n» [such as the 72777 w2 and the 2 7m°R which
require the 7°n» of a7 in order to be eaten or burnt on the 11am], there is no XMV MOX until the a*’nn were
offered (the o7 was p11), and anything which has no a>3°n» (for instance the vy of the i) there is MO°X
TRMI0 as soon as it was 932 WP
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He derives there from the '7105 which states 297% 2wx that the pwop is

referring to all 2>w7p -
— S291n10Y 1119 PRY 999 DNIR BN 979

And the X773 derives there from that 2105 concerning 299°8 and anything

which is not 2379771% 2n%1 that there is a 271 for eating it ixmwa. Why is the 109 here
necessary to teach us (again) the 21°11 for eating X212 2" NNAK?

N1B0IN answers:
— NN TNYT KPIDT 991299 THI0WNT Y9N "PYny 13539
And the w'"+9 answered that this "12°9 (from w27 which is mentioned

here) is also necessary, for we may have thought -
: %250 909N Yy 5IN% ANMIV NNUIN N2> NI4T

That the 782w =798 cannot come and rest upon the 257 =238°X which
existed previously for the rule is Mo°R ¥ 1 MO*X PX, this P09 teaches us a specific "2
that in the case of 271 %W 0 1°K the RMPIWY NO°X is 217 on the 251 MoK,

Summary
The 109 of 1°%¥ 1NRMVY "2 2°HKR MR in IR NWD teaches us that there is a

21 for eating any type of nXmw2a 2w7p (including 2°712°X); however our
P09 of TWwam in 1 NWMD is necessary to teach us that the XML MOX is N
(even) on 271 70X,

Thinking it over

n901n concluded that the P10 here teaches us that X2 10X is 27 on MOX
25, Is this a 21377 17" or is it 21 because the Ax™MY MO is an 9915 70K
relative to 21 Mo°x?"?

73,20 ("MR) Xp. The pi0d reads: 32 WHTRY WK D°WTRT U8 DY D30 2797 WK UK 99 DDITY 29N MK
TV N 197 KT W3 AN 1Y IR A2 N

8 The word o™X does not appear there; neither does 0*117v? 071 PRW 923; rather it states 17°N1 12 PRY 9

(see 7"wnnn). Rather nd0IN means that since the P0D is aRAWY DWIPR 92 72 it must include R

(which is a 17°nn 2 wow 927 [and 221787 071 PRY 991]) as well (see X"wAnn). See previous footnote # 6.

? It seems that 17Wwnw ' is explaining the initial question of MdoN (why a P109 is necessary for DMK N7aK

7xmw2). His explanation will also answer mvon current question from 77°vn 'on.

19 The arn for oMK ARMY NOK in 72°vn may be referring to 2™ X which are not 291, like M2 yaip

(or A9wi w2). [In those cases there is no N3 21°1, therefore it is understood that that the 210°X of 7137 NRMW

for which there is n1> can be %n]. However by o>m°R of 271 (where there already is a N3 121 on account

of the 271) one would havbe thought that he will be only 2>11 for 2717 and not for RmW.

" The axmw Mo*x includes all types of foods besides 2%r; therefore it is called an 9912 10X, According to

many opinions, MoK ¥ 71 MoK if the second MOX is an 9715 MO*X.

' See 93 omax.
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